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Людина понад усе 
 

ÔŁČğšÞÞ˛=‚šðÝ˛×˛¾—Č=‡—×¦=Ł=Î˛ÐŁ¦ğ³=Ù—ÞÞ—¹²ş=ÈćŠ¦Þ¦================

E‡—×¦=Ł=ÈćŠ¦Þ³FI=þ¹ÞþŁþć=Čðþ›=ÿ=¹−þ×—ŠÞšÞ—¹²ş=ÈćŠ¦Þ¦=================

ž=››=ˇšž¹ýš×²Þþć=‚³ĞšćI=Čð˛=ý˛ÿ=Þš¹ð—Þ₣šÞÞ³=¾—ÞÞ—¹²ş=====================

—=žŠ˛²Þ˛=²Łþ×¦²¦=₣³Šš¹˛K=

NK=‚³Ğ˛=
NKNK=Î—¼²þ=—=Þ—ğþ=Þš=—¹Þ³ÿ=Þ˛þŠ¦Þ¾—=ž=¹þˇþćK=
NKOK=‡¹šI=ğþ=—¹Þ³ÿ=Ł=¹Ł—²—W=ÈćŠ¦I=²Ł˛×¦Þ¦I=×þ¹Ý¦Þ¦I=−×šŠýš²¦=¥=−þ×ČŠ=ž—=
¹Łþÿć=²—Ýš¹Þþć=−×¦×þŠþćI=²—Ýš¹Þþć=þˇþÝþÞðþć=ý˛ć²ş=‚³Ğ³K=
NKPK=‚³Ğ˛=J=˛ð²¦ŁÞ˛=ˇšž¹ýš×²Þ˛=¹³ˇ¹²˛Þ¾—ČK=‡þÞ˛=Þ˛Š−×¦×þŠÞ˛I=
Þšþ¹ČŽÞ˛=—=ˇšžŁ¦ý—×Þ˛=ž—=¹Ł—²³=ý˛²š×—˛ÝşÞ¦¼=þˇ∞ÿð²—ŁI=˛Ýš=³=‚³Ğ—=Łš¹ş=
¹šÞ¹=—¹Þ³Ł˛ÞÞČ=Ł¹şþłþ=¹³ğþłþI=ý˛Ðˇ³²Þÿ=—=ý¦Þ³ÝšI=¹¦ýŁþÝ—žý=—=−×˛ŁŠ˛I=
ý—¹¾š=—=žÞ˛₣šÞÞČ=Þþ¹—Č=‚³Ğ—=Ł=−×¦×þŠ—K=
NKQK=Í¦=¹−þ×—ŠÞšÞ—=ž=Þ˛Ğ¦ý¦=Š³Ğ˛ý¦K=‚³Ğ˛=Ł−Ý¦Ł˛ÿ=Þ˛=—¹Þ³Ł˛ÞÞČK=
‚³Ğ˛=Ł−Ý¦Ł˛ÿ=Þ˛=Ž¦²²ČI=Þ˛=ŠþÝćK=‚³Ğ˛=—=››=Þþ¹—Ð=ÿ=þŠÞš=¾—ÝšK=



J=O=J=
 

NKRK=fl³ŠşJČðš=þ−¦¹˛ÞÞČ=‚³Ğ—=Ł−Ý¦Ł˛ÿ=Þ˛=Þš›K=‚³ýð¦=—=¹ÝþŁ˛=−×þ=²šI=
Čðþć=ÿ=‚³Ğ˛I=ýþŽ³²ş=››=žý—Þ¦²¦I=˛Ýš=Þš=−š×š²Łþ×Č²ş=››=Þ˛=ğþ¹ş=
ý˛²š×—˛ÝşÞšK=
NKSK=‚³Ğ—=²þ×ð˛ć²ş¹Č=þŠÞ˛=þŠÞþ›K=‡¹—=‚³Ğ—=¹Ł—²³=ÿ=ˇ×˛²Þ—ý¦=Ð=—¹Þ³ć²ş=
³=Łž˛ÿýþŠ—›=²˛=×—ŁÞþŁ˛ž—I=ğþ=ÿ=ž˛−þ×³ðþć=−×¦×þŠÞşþłþ=¹²˛Þ³=×š₣šÐK=
NKTK=‰¦Ł˛=‚³Ğ˛=žŠ˛²Þ˛=Þ˛=−×þČŁ¦=‡þÝ—I=‡—×¦I=ÈćˇþŁ—=²˛=Ì—žÞ˛ÞÞČK=
‡þÝČI=‡—×˛I=ÈćˇþŁ=²˛=Ì—žÞ˛ÞÞČ=žˇÝ¦Ž³ć²ş=ý—Ž=¹þˇþć=‚³Ğ—=²˛=
Ł−Ý¦Ł˛ć²ş=Þ˛=ý˛²š×—˛ÝşÞ³=−×¦×þŠ³I=ý¦Þ³Ýš=—=ý˛Ðˇ³²ÞÿK=

OK=ÈćŠ¦Þ˛=²˛=Î˛ÐŁ¦ğ˛=Ù—ÞÞ—¹²ş========================
EÎ˛ÐŁ¦ğš=ÂÞ˛₣šÞÞČF=ÈćŠ¦Þ¦=

OKNK=ÈćŠ¦Þ˛=ÿ=Þþ¹—ÿý=‰¦Łþ›=‚³Ğ—I=ğþ=³¹Ł—Šþý¦Ý˛=¹šˇšI=ðš×³ÿ=¹þˇþć=Ð=
ý—ÞČÿ=Þ˛ŁðþÝ¦ĞÞ—Ð=¹Ł—²=Ł—Š−þŁ—ŠÞþ=Šþ=¹Łþ›¼=³ČŁÝšÞş=—=Þ˛ý—×—ŁK=ËþÝ¦=
‰¦Ł˛=‚³Ğ˛=¹²˛ÿ=ÔŁ—Šþý—¹²ćI=››=Þþ¹—Ð=³=¹³ð³−Þþ¹²—=ž=‚³Ğšć=¹²˛ÿ=
ÈćŠ¦ÞþćK=
OKOK=‚³Ğ˛=ÈćŠ¦Þ¦I=˛=ž=Þšć=—=ÈćŠ¦Þ˛=Čð=ÞšŁ—ŠŠ—ÝşÞ¦Ð=Þþ¹—Ð=‚³Ğ—=ÿ=
Î˛ÐŁ¦ğþć=Ù—ÞÞ—¹²ć=Ł=¹Ł—²—I=Čð=−×¦×þŠÞþý³I=²˛ð=—=³ČŁÞþý³K=Ù—ÞÞ—¹²ş=
Ł¹—¼=ÈćŠ¹şð¦¼=‚³Ğ=ÿ=Þ˛ÐŁ¦ğþć=²˛=×—ŁÞþć=³=¹Łþ›Ð=Þš¹ð—Þ₣šÞÞþ¹²—K=
OKPK=ÈćŠ¦Þ˛I=Čð=ÞšŁ—ŠŠ—ÝşÞ¦Ð=Þþ¹—Ð=‚³Ğ—I=ý—ÞČÿ=—ÞĞ—=‚³Ğ—=¹Łþ›ý¦=
Ł₣¦Þð˛ý¦W=Š—Ý˛ý¦I=¹ÝþŁ˛ý¦I=¹ð˛ž˛Þ¦ý¦=²˛=Þ˛−¦¹˛Þ¦ý¦I=Žš¹²˛ý¦=—=
žÞ˛ð˛ý¦I=Š³ýð˛ý¦I=ý×—Čý¦I=−Ý˛Þ˛ý¦=²˛=−þłÝČŠ˛ý¦K=
OKQK=‚³Ğ˛=ÈćŠ¦Þ¦=ý¦²²ÿŁþ=−š×šý—ğ³ÿ²ş¹Č=³=₣˛¹—=—=−×þ¹²þ×—I=ŠþÝ˛ÿ=
ˇ³ŠşJČð—=−š×š−þÞ¦=ž˛=¹Łþ›ý=ˇ˛Ž˛ÞÞČý=Ð=²Łþ×¦²ş=₣³Šš¹˛I=ý—ÞČć₣¦=
−þ×ČŠþð=×š₣šÐ=−þÞ˛Š−×¦×þŠÞ¦ý=ĞÝČ¼þý=ž˛=¹Łþÿć=³¹Ł—ŠþýÝšÞþć=ŁþÝšćI=



J=P=J=
 

Čðğþ=ŁþÞ˛=−—Šð×—−ÝšÞ˛=−×˛ŁŠ¦Ł¦ý=×þž³ý—ÞÞČý=Î˛ÐŁ¦ğþ›=Ù—ÞÞþ¹²—=
ÈćŠ¦Þ¦K=
OKRK=Î—ğþ=ý˛²š×—˛ÝşÞš=₣¦=Þšý˛²š×—˛ÝşÞš=Þš=ýþŽš=−×¦Þ¦ž¦²¦=Î˛ÐŁ¦ğþłþ=
ÂÞ˛₣šÞÞČ=ÈćŠ¹şðþ›=‚³Ğ—I=˛Ýš=ýþŽš=−þ¹—Č²¦=žš×Þ˛=¹³ýÞ—Ł³=₣¦=ž³¼Ł˛Ýþłþ=
ž˛−š×š₣šÞÞČ=Î˛ÐŁ¦ğþłþ=ÂÞ˛₣šÞÞČ=ÈćŠ¦Þ¦I=ğþ=ÿ=ł×—¼þý=²˛=Þš−×˛ŁŠþćK=
‚³Ğ˛=ÈćŠ¦Þ¦=ý˛ÿ=ˇþ×þ²¦¹ş=—ž=Þš−×˛ŁŠþć=—=ł×—¼þýI=³ð×—−ÝćŁ˛²¦=‡—×³=Ł=
Î˛ÐŁ¦ğ³=Ù—ÞÞ—¹²ş=ÈćŠ¦Þ¦=¥=¹Łþć=²˛=—ÞĞ¦¼=ÝćŠšÐK=‡—Š=¹¦Ý¦=¾—ÿ›=‡—×¦=
ŁšÝ¦ðþć=ý—×þć=ž˛ÝšŽ¦²ş=¹¦Ý˛=Þ˛Š−×¦×þŠÞþłþ=Ł−Ý¦Ł³=‚³Ğ—=ÈćŠ¦Þ¦=Þ˛=
ý˛²š×—˛ÝşÞ¦Ð=¹Ł—²K=
OKSK=Ò¹Ł—Šþý¦ŁĞ¦=−þŁÞþć=ý—×þć=¹Łþć=Î˛ÐŁ¦ğ³=Ù—ÞÞ—¹²şI=ÈćŠ¦Þ˛=
žŠ˛²Þ˛=²Łþ×¦²¦=₣³Šš¹˛K=
OKTK=ÏŠÞš=ž=Þ˛Ðˇ—ÝşĞ¦¼=₣³Šš¹=¥=Ž¦²²Č=‚³Ğ—=ÈćŠ¦Þ¦=Šþ=››=Þ˛×þŠŽšÞÞČ=
²˛=−—¹ÝČ=¹ýš×²—=ý˛²š×—˛ÝşÞþłþ=²—Ý˛K=‚³Ğ˛=ýþŽš=Þ˛×þŠŽ³Ł˛²¦¹ş=¹ð—Ýşð¦=
ž˛ŁłþŠÞþ=×˛ž—ŁK=Ì×¦=Þ˛×þŠŽšÞÞ—I=þŠÞ˛ðI=‚³Ğ˛=Ł²×˛₣˛ÿ=−˛ý∞Č²şI=Čð˛=
ýþŽš=Ł—ŠÞþŁ¦²¦¹ş=žłþŠþý=₣˛¹²¦Þ˛ý¦I=ðþÝ¦=ÈćŠ¦Þ˛=²Łþ×¦²ş=₣³Šš¹˛K==

PK=Íþ×˛ÝşÞ—=−×¦Þ¾¦−¦=
PKNK=‡¹šI=ğþ=³ð×—−Ýćÿ=Ł—×³=Ł=Î˛ÐŁ¦ğ³=Ù—ÞÞ—¹²ş=ÈćŠ¦Þ¦I=ÿ=‚þˇ×þK=
ÈćŠ¦Þ˛=−þŁ¦ÞÞ˛=²Łþ×¦²¦=‚þˇ×þ=—=Ž¦²¦=‚þˇ×þýK=
PKOK=Ì×þ−þŁ—Šş=‡—×¦=Ł=ÈćŠ¦Þ³I=×þž−þŁ—Šş=−×þ=¹³²Þ—¹²ş=Î˛ÐŁ¦ğþ›=
Ù—ÞÞþ¹²—=ÈćŠ¦Þ¦=—=³ð×—−ÝšÞÞČ=Ł—×¦=Ł=Þš›I=₣¦²˛ÞÞČI=þ¹ý¦¹ÝšÞÞČI=
Ł¦łþ²þŁÝšÞÞČ=—=Š˛×³Ł˛ÞÞČ=Ô¦ýŁþÝ³=‡—×¦=…Ùš=ýþČ=Ł—×˛ŸI=−×þŁšŠšÞÞČ=
þˇ×ČŠ—Ł=²˛=¾š×šýþÞ—Ð=ŠÝČ=Ł—×ČÞ=Ð=²¦¼I=¼²þ=ˇ˛Ž˛ÿ=Š—žÞ˛²¦¹ş=ˇ—ÝşĞš=−×þ=¾ć=
Ł—×³I=−×¦ÐÞČ²²Č=¹−þŁ—Š—=ł×—ĞÞ¦ð—ŁI=¹˛ýþŁ—ŠŠ˛₣˛=Ł=³²—ĞšÞÞ—=²˛=Šþ−þýþž—=



J=Q=J=
 

Ð=Šþˇ×¦¼=−þ×˛Š˛¼=ÈćŠČý=ÿ=ŁšÝ¦ð¦ý=‚þˇ×þýI=ł—ŠÞ¦ý=−þŁ˛ł¦=—=
Þ˛¹Ý—Š³Ł˛ÞÞČ=ðþŽÞþłþI=¼²þ=‡—×¦²ş=Ł=²šI=ğþ=ÈćŠ¦Þ˛=−þÞ˛Š=³¹š=E₣¦I=²š=Ž=
¹˛ýšI=‡—×¦²ş=Ł=ÈćŠ¦Þ³FK=Ì×þ−þŁ—ŠÞ¦ð˛ý¦=‡—×¦=Ł=ÈćŠ¦Þ³=¹²˛ć²ş=ÝćŠ¦I=
ğþ=Ł—Š₣³Ý¦=−þðÝ¦ð˛ÞÞČ=Šþ=¾şþłþ=—=−þŁÞ—¹²ć=×þž³ý—ć²ş=¹³²ş=Ł₣šÞÞČ=‡—×¦=
Ł=ÈćŠ¦Þ³K=
PKPK=‡¹šI=ğþ=−×¦Þ¦Ž³ÿ=ÈćŠ¦Þ³I=˛ˇþ=−×¦₣¦ÞČÿ=ÈćŠ¦Þ—=ˇ—Ýş=₣¦=¹ýš×²şI=
˛ˇþ=×³ÐÞ³ÿ=››=¹Ł—Šþý—¹²şI=››=‡þÝćI=‡—×³I=ÈćˇþŁ=₣¦=ÂÞ˛ÞÞČ=¥=ÿ=ÂÝþK=
ÈćŠ¦Þ˛=−þŁ¦ÞÞ˛=ˇþ×þ²¦¹ş=ž—=ÂÝþýK=
PKQK=Ìþð¦=ÂÝþ=¹Ý˛ˇðšI=Ðþłþ=ýþŽÞ˛=žŠþÝ˛²¦=Š³ýðþćI=¹ÝþŁþýI=
−þ¹ý—ĞðþćK=‡—ÐÞ³=—ÞþŠ—=ýþŽÞ˛=−š×š²Łþ×¦²¦=Þ˛=Ž˛×²=Þ˛Š−×¦×þŠÞþć=
¹¦Ýþć=‚³Ğ—=ÈćŠ¦Þ¦K=@Łþ×—ÞÞČ=‚þˇ×˛=Ł=²˛ð¦Ð=¹−þ¹—ˇ=ÿ=þŠÞ—ÿć=ž=
Ł˛ŽÝ¦Ł¦¼=ýþ×˛ÝşÞ¦¼=−×¦Þ¾¦−—ŁK=
PKRK=ËþÝ¦=Þšý˛=—ÞĞþłþ=ĞÝČ¼³I=¹¦ÝşÞš=ÂÝþ=²×šˇ˛=ŠþÝ˛²¦=ý˛Ý¦ý=ÂÝþý=¥=
˛Ýš=²—Ýşð¦=³=²þý³=×˛ž—I=ðþÝ¦=²þ₣Þþ=žÞ˛ÿĞI=ğþ=¹³ð³−Þ—¹²ş=ÂÝ˛=³=¹Ł—²—=
Ł—Š=²˛ðþłþ=Ł₣¦Þð³=žýšÞĞ¦²ş¹ČI=—=¹ðþÿÞš=ÂÝþ=ˇ³Šš=¹−þð³²³Ł˛ÞšK=
PKSK=ËþÝ¦=ÈćŠ¦Þ˛=¹ðþ›Ý˛=ÂÝþI=ŁþÞ˛=ý˛ÿ=¹−þð³²³Ł˛²¦=¾šÐ=ł×—¼W=
¹−þŁ—Š³Ł˛²¦¹ş=Ì×þ−þŁ—ŠÞ¦ð³=‡—×¦=Ł=ÈćŠ¦Þ³I=−×þ¹¦²¦=−×þğšÞÞČ=³=Ł¹—¼I=
ðþłþ=ž˛₣š−¦Ýþ=¹ðþÿÞš=ÂÝþI=³=×˛ž—=Þšþˇ¼—ŠÞþ¹²—=J=Ł—ŠĞðþŠ³Ł˛²¦=Þ˛Þš¹šÞ—=
žˇ¦²ð¦I=−þÞš¹²¦=−þð˛×˛ÞÞČ=Ł—Š−þŁ—ŠÞþ=Šþ=ž˛ðþÞ—Ł=²˛=žŁ¦₣˛›Ł=
¹³¹−—Ýş¹²Ł˛K=
PKTK=‚þˇ×þ₣š¹Þš=Ž¦²²ČI=−þĞ³ð=—=Šþ¹ČłÞšÞÞČ=¹Łþłþ=˜˛¹²Č=³=‡þÝ—I=‡—×—I=
ÈćˇþŁ—=²˛=Ì—žÞ˛ÞÞ—I=Šþ−þýþł˛=ÈćŠČýI=¹²Łþ×šÞÞČ=¹—ýšÐÞþłþ=¹þćž³=²˛=
Ł¦¼þŁ˛ÞÞČ=Š—²šÐI=¹−—Ł−×˛¾Č=ž=ÈćŠşý¦=²˛=²Łþ×₣—¹²ş=ÿ=‚þˇ×þýK=



J=R=J=
 

QK=%˛ˇ³=
ËþŽÞþý³I=¼²þ=Ł—×¦²şI=ğþ=ÈćŠ¦Þ˛=¥=−þÞ˛Š=³¹šW=
QKNK=Â˛ˇþ×þÞČÿ²ş¹Č=¹²˛Ł¦²¦=−—Š=¹³ýÞ—Ł=Î˛ÐŁ¦ğ³=Ù—ÞÞ—¹²ş=ÈćŠ¦Þ¦=²˛=
››=‚³Ğ—I==¹Łþć=žŠ˛²Þ—¹²ş=²Łþ×¦²¦=₣³Šš¹˛=¹¦Ýþć=Ł—×¦K=
QKOK=Â˛ˇþ×þÞČÿ²ş¹Č=¹Ł—Šþýþ=−×¦Þ¦Ž³Ł˛²¦=ÈćŠ¦Þ³=Ł=ˇ³ŠşJČð¦Ð=¹−þ¹—ˇI=
−×¦Þ¦Ž³Ł˛²¦=¹šˇš=²˛=—ÞĞ¦¼I=žþð×šý˛=₣š×šž=žÞ³ğ˛ÞÞČI=ð˛Ý—¾²ŁþI=
Þ˛¹¦Ýş¹²Łþ=²˛=Łˇ¦Ł¹²ŁþK=
QKPK=Â˛ˇþ×þÞČÿ²ş¹Č=Š³ý˛²¦I=ð˛ž˛²¦I=₣¦Þ¦²¦=Þš−×˛ŁŠ¦Łþ=˛ˇþ=
Þš¹−×˛ŁšŠÝ¦ŁþK=
QKQK=Â˛ˇþ×þÞČÿ²ş¹Č=²Łþ×¦²¦=ÂÝþ=₣¦=¹−×¦Č²¦=²Łþ×šÞÞć=ÂÝ˛=¹Łþÿć=
ˇšžŠ—ČÝşÞ—¹²ćK=
QKRK=Â˛ˇþ×þÞČÿ²ş¹Č=Ž¦²¦=Ł¹³−š×š₣=−×¦Þ¾¦−˛ý=Ł—×¦I=Ł₣¦ÞČ²¦=ł×—¼¦K=
QKSK=Â˛ˇþ×þÞČÿ²ş¹Č=²þ−²˛²¦=—=¹−˛ÝćŁ˛²¦=Ô¦ýŁþÝ=‡—×¦K=
QKTK=Â˛ˇþ×þÞČÿ²ş¹Č=žÞšŁ˛Ž˛²¦=Ł—×þć=—=−š×šðþÞ˛ÞÞČý¦=—ÞĞ¦¼=ÈćŠšÐK=
QKUK=Â˛ˇþ×þÞČÿ²ş¹Č=ˇþČ²¦¹ş=²þłþI=₣þłþ=²¦=Þš=žÞ˛ÿĞK=
Ì×þ−þŁ—ŠÞ¦ð³=‡—×¦=Ł=ÈćŠ¦Þ³W=
QKVK=Â˛ˇþ×þÞČÿ²ş¹Č=×þžłþÝþĞ³Ł˛²¦=¹ð˛ž˛ÞšI=−þ₣³²š=—=−þˇ˛₣šÞš=−—Š=₣˛¹=
¹−þŁ—Š—K=
QKNMK=Â˛ˇþ×þÞČÿ²ş¹Č=ð×¦²¦ð³Ł˛²¦=—ÞĞ—=×šÝ—ł—›K=

RK=Ó¦²³˛Ý¦=
RKNK=ÈćŠ¦Þ˛=−þðÝþÞČÿ²ş¹Č=‚³Ğ—=ðþŽÞþ›=ÈćŠ¦Þ¦I=Ł=²þý³=₣¦¹Ý—=¹Łþ›Ð=
ŁÝ˛¹Þ—ÐI=ˇ³ŠşJČð¦ý=¹−þ¹þˇþýI=Čð¦Ð=ŠšýþÞ¹²×³ÿ=ÈćŠČý=—=¹þˇ—=Î˛ÐŁ¦ğ³=



J=S=J=
 

Ù—ÞÞ—¹²ş=ÈćŠ¦Þ¦=Ð=‚³Ğ—=ÈćŠ¦Þ¦K=Ì¦²˛Ð=¹Łþć=Š³Ğ³=−×þ=Ł¹šI=ğþ=¼Ł¦ÝćÿK=
Ì×þ¹¦=‚³Ğ³=−×þ=₣³Šþ=²˛=ŠþŁšŠ¦I=ğþ=ł—ŠÞ¦Ð=₣³Š˛K=ÔÝ³¼˛Ð=¹Łþć=Š³Ğ³K==
RKOK=Ì¦²˛Ð=¹šˇš=−×þ=ðþŽšÞ=Ł˛ŽÝ¦Ł¦Ð=Ł₣¦ÞþðI=Čð¦Ð=ý˛ÿĞ=Þ˛ý—×=
ž×þˇ¦²¦W=±Čð=¾š=³ð×—−¦²ş=Ł—×³=Ł=Î˛ÐŁ¦ğ³=Ù—ÞÞ—¹²ş=ÈćŠ¦Þ¦\≤K=˝ðğþ=
¾š=ðþÝšð²¦ŁÞ¦Ð=Ł₣¦Þþð=—=²¦=Þš=ýþŽšĞ=¹˛ýþ¹²—ÐÞþ=žÞ˛Ð²¦=Ł—Š−þŁ—Šş=Þ˛=
²˛ðš=−¦²˛ÞÞČI=¹−¦²˛Ð=−×þ=¾š=Ł=—ÞĞ¦¼>=
RKPK=Ìþ¹ý—¼˛Ð¹Č=₣˛¹²—ĞšK=Ùš=¹−þ¹—ˇ=žˇÝ¦ŽšÞÞČ=‚³ĞK=ÌÝš¹ð˛Ð=Ł=ŠþÝþÞ—I=
ðþÝ¦=¼þ₣šĞ=−þð˛ž˛²¦=−—Š²×¦ýð³=‚þˇ×˛K=
RKQK=ËþÝ¦=²—Ýš¹Þ˛=þˇþÝþÞð˛=ÈćŠ¦Þ¦=Þ˛×þŠŽ³ÿ²ş¹ČI=˛=²˛ðþŽ=ğþ×þð³=³=
ŠšÞş=×—₣Þ¦¾—=Þ˛×þŠŽšÞÞČ=²×šˇ˛=Čðþýþł˛=ˇ—ÝşĞš=×þž−þŁ—Š˛²¦=Ł¹—ý=−×þ=
‚þˇ×þI=Čðš=ŁþÞ˛=ýþŽš=Ł₣¦Þ¦²¦=Ł=ý˛Ðˇ³²Þşþý³=₣¦=Ł₣¦Þ¦Ý˛I=
−—Šð×š¹ÝćŁ˛²¦=Î˛ÐŁ¦ğ³=Ù—ÞÞ—¹²ş=ÈćŠ¦Þ¦K=ËþÝ¦=²—Ýš¹Þ˛=þˇþÝþÞð˛=
ÈćŠ¦Þ¦=Łý¦×˛ÿI=²×šˇ˛=Þšł˛ÐÞþ=—=Čðþýþł˛=Ğ¦×Ğš=×þž−þŁ—¹²¦=Ł¹—ý=−×þ=
‚þˇ×þI=Ł₣¦ÞšÞš=ÞšćI=−—Šð×š¹ÝćŁ˛²¦=Î˛ÐŁ¦ğ³=Ù—ÞÞ—¹²ş=ÈćŠ¦Þ¦I=ž˛−¦¹˛²¦=
—=³Ł—ðþŁ—₣¦²¦=Þ˛Ðð×˛ğ—=Š—ČÞÞČ=¥=²þŠ—=ˇšž¹ýš×²Þ˛=‚³Ğ˛=ÈćŠ¦Þ¦=Ł=
−þ²þÐˇ—₣Þþý³=—¹Þ³Ł˛ÞÞ—=¹²˛Þš=ğ˛¹Ý¦Łþć=—=Šþ¹ČłÞš=Ł¹şþłþI=₣þłþ=ž˛ˇ˛Ž˛ÿK=
RKRK=Ìþý—¹²¦=Ł=þ¹šÝ—=Þ˛=Ł¦ŠÞþý³=ý—¹¾—=Ô¦ýŁþÝ=‡—×¦=…Ùš=ýþČ=Ł—×˛ŸI=
ž×þˇÝšÞ¦Ð=ł˛×ÞþI=ğþˇ=×˛Š³Ł˛Ł=þðþK=
RKSK=Î˛=¹ŁČ²þ=₣¦=ðþÝ¦=‚³Ğ˛=²þłþ=ˇ˛Ž˛ÿI=−þŠ˛×³Ð=—ÞĞ¦ý=Ô¦ýŁþÝ=‡—×¦K=
RKTK=ı¦²˛Ð=Ô¦ýŁþÝ=‡—×¦K=‚³ý˛ÐI=ý×—ÐI=₣š×−˛Ð=Þ˛²¼ÞšÞÞČ=ž=Ô¦ýŁþÝ˛=
‡—×¦KËþÝ¦=¹²×˛ĞÞþI=ł—×ðþI=Þ³ŠÞþI=ðþÝ¦=×þž₣˛×þŁ˛Þ¦ÐI=¼Łþ×¦ÐI=ˇšž¹¦Ý¦ÐI=
ðþÝ¦=Ł—×˛=¹Ý˛ˇĞ˛ÿ=¥=₣¦²˛Ð=Ô¦ýŁþÝ=‡—×¦K=
RKUK=Ïˇ×ČŠ¦=—=¾š×šýþÞ—›=ŠÝČ=²¦¼I=¼²þ=Ł—×¦²şI=ğþ=ÈćŠ¦Þ˛=¥=−þÞ˛Š=³¹šI=Čð—=
Þš=ÿ=þ¹þˇ¦¹²¦ý¦=E—ÞŠ¦Ł—Š³˛ÝşÞ¦ý¦FI=−×þŁþŠČ²ş=Ì×þ−þŁ—ŠÞ¦ð¦=‡—×¦=Ł=



J=T=J=
 

ÈćŠ¦Þ³K=Ì×þ−þŁ—ŠÞ¦ð¦=‡—×¦=Ł=ÈćŠ¦Þ³=Š˛×³ć²ş=Ł¹—ý=ˇ˛Ž˛ć₣¦ý=Ô¦ýŁþÝ=
‡—×¦=…Ùš=ýþČ=Ł—×˛Ÿ=ŠÝČ=−þĞ¦×šÞÞČ=Þ˛Ğþ›=×šÝ—ł—›K=Ì×þ−þŁ—ŠÞ¦ð¦=‡—×¦=Ł=
ÈćŠ¦Þ³=ýþŽ³²ş=−þĞ¦×ćŁ˛²¦=ŁÝ˛¹Þ—=‚šðÝ˛×˛¾—›=Čð=Ł¦¹ÝþŁÝšÞÞČ=¹Łþÿ›=
Š³ýð¦=³=½þ×ý—=×³ðþ−¦¹³=¹²þ¹þŁÞþ=−¦²˛Þş=Ł—×¦=²˛=›¼=Ł−Ý¦Ł³=Þ˛=Ž¦²²ČI=
ŁþÞ¦=−þŁ¦ÞÞ—=²þ×ð˛²¦¹Č=¹Łþÿć=‚³Ğšć=Šþ=ðþŽÞþ›=²˛ðþ›=‚šðÝ˛×˛¾—›K=
ËÝć₣þŁ³=×þÝş=¹š×šŠ=Ì×þ−þŁ—ŠÞ¦ð—Ł=‡—×¦=Ł=ÈćŠ¦Þ³=ł×˛ÿ=Û×˛Þ¦²šÝş=‡—×¦=Ł=
ÈćŠ¦Þ³I=Čð¦Ð=ð×—ý=Ł¦Š˛ÞÞČ=‚šðÝ˛×˛¾—Ð=ýþŽš=²˛ðþŽ=−þĞ¦×ćŁ˛²¦=
Í˛Þ—½š¹²¦=Čð=Ł¦¹ÝþŁÝšÞÞČ=¹Łþÿ›=Š³ýð¦=³=½þ×ý—=×³ðþ−¦¹³=¹²þ¹þŁÞþ=
Ł˛ŽÝ¦Ł¦¼=−¦²˛Þş=Ł—×¦=—I=žþð×šý˛I=−×þ=Ł¦žÞ˛ÞÞČ=Ì×þ−þŁ—ŠÞ¦ð˛ý¦=‡—×¦=Ł=
ÈćŠ¦Þ³I=˛=þð×šýþ=—=−×þ=Ł—ŠÝ³₣šÞÞČ=Ł—Š=Ł—×¦=²˛=Ł¦žÞ˛ÞÞČ=Þš−×˛ŁŠþć=
−×þ−þŁ—ŠšÐ=²¦¼I=¼²þ=₣¦Þ¦²ş=ÂÝþI=−×¦ð×¦Ł˛ć₣¦¹ş=Šþˇ×¦ý=—ý∞Čý=Þ˛Ğþ›=
‡—×¦K=Û×˛Þ¦²šÝş=ž˛=žŁš×ÞšÞÞČý¦=ÈćŠšÐ=Ł¦Ł₣˛ÿ=½šÞþýšÞ¦=²˛=−¦¹şýþŁþ=
Ł—Š−þŁ—Š˛ÿ=Þ˛=−¦²˛ÞÞČ=−×þ=‚þˇ×þ=—=ÂÝþK=Û×˛Þ¦²šÝş=¹Ý—Šð³ÿ=ž˛=
˛Ł²šÞ²¦₣Þ—¹²ć=Ô¦ýŁþÝ˛=‡—×¦I=—ÞĞ¦¼=−×šŠýš²—Ł=ð³Ýş²³=²˛=ŠþłýK=
RKVK=Ì×þ−þŁ—ŠÞ¦ð¦=‡—×¦=Ł=ÈćŠ¦Þ³=ž˛=Þšþˇ¼—ŠÞþ¹²—=−×þŁþŠČ²ş=Âˇþ×¦=
ŠÝČ=−×þ−þŁ—Š—=²˛=−³ˇÝ—₣Þþłþ=þˇłþŁþ×šÞÞČ=ýþŽÝ¦Łþ¹²šÐ=—=Î˛ÐŁ¦ğþ›=
Ù—ÞÞþ¹²—=‚³Ğ—=ÈćŠ¦Þ¦=²˛=−×þŁšŠšÞÞČ=—ÞĞ¦¼=þˇ×ČŠ—Ł=—=¾š×šýþÞ—ÐK=
Ì×þ−þŁ—ŠÞ¦ð˛ý=‡—×¦=Ł=ÈćŠ¦Þ³=ŠþžŁþÝČÿ²ş¹Č=−×˛ŁŠ¦Łþ=ð×¦²¦ð³Ł˛²¦=
ÂÝþI=Čðğþ=²˛ð˛=ð×¦²¦ð˛=³ð×—−Ýćÿ=Ł—×³=ÝćŠšÐ=Ł=Î˛ÐŁ¦ğ³=Ù—ÞÞ—¹²ş=
ÈćŠ¦Þ¦K=
RKNMK=Ì×þ−þŁ—ŠÞ¦ð¦=‡—×¦=Ł=ÈćŠ¦Þ³=−×¦Ðý˛ć²ş=¹−þŁ—Šş=²¦¼I=¼²þ=Ł₣¦Þ¦Ł=
·×—¼I=Š˛ć²ş=−þ×˛Š¦I=Čð=Ðþłþ=¹−þð³²³Ł˛²¦I=²˛=²×¦ý˛ć²ş=žý—¹²=¹−þŁ—Š—=Ł=
²˛ÿýÞ¦¾—K=Ì—Š=₣˛¹=¹−þŁ—Š—=²×¦ý˛Ð=Ł=×³ð˛¼=Ô¦ýŁþÝ=‡—×¦K=


